Stinky Feet Test Review
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Write the equation of the line
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The position (in floor levels) y of an elevator
after x minutes is given by the equation:

y=4x+1

1. What is the real-world meaning of the 4?7
2. Whatis the realworld meaning of the 1?
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Graph the equation:
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Write the equation of the line
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The Breount of mongy you spend on x bags of
Fetate chips and Y cans of seda is given by the
tquation 2X +y = 12. Graph the equation. Be able
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Write the equation of the line that goes | —*— | The graph shows the amount of money in a
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